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Find the area of the following regular polygons.
3° .
w4 i _ ta_n_g;_b =10
P=44%1 =208 qi-‘: 4
a=138
RS 5aP 20 ’
) P=a0x 5= {60
2
$IN3s. 1= %

R = GA0UMfE?
x:33 9 eathSude: 4.4

Base - N
' Bﬁzbh
A) 855.07 ft’ nfi\2 crg)a)
1733.07 f® e
C) 1342.47f8 8 ft 20 4 : L @ got )
D) 2625.68 ft’ i W=t maam‘? &
SR=1B+Ph b= oS (p=52 D
=2 gb.4)+ 52(30) -
. \\:a\-h ( h-;o
-Pag+sp0 = 11338 =30
3. Please find the surface area of the figure below. a
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4. A sporting goods company sells tents in two styles, shown below. The sides and floor of each tent
are made of nylon.
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Which tent requires less nylon to manufacture?
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5. A steel water tank is a cylinder with a diameter of 30 ft and a height of 18 ft. To prevent rust, it is
important to keep them painted. If one gallon of paint will cover about 350 square feet, how many

v gallons of paint are needed to paint the tank?
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6. Find the surface area of a right octagonal prism with all edges measuring 8 feet. Round your answer
to two decimal places. O Induding heaght
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Find the surface area of the prism.
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8. Mr. Butterworth baked a cake in the shape of a cylinder. The cake had a diameter of 9 inches and a
height of 5 inches. He spread icing over the entire cake (except for the bottom). How much frosting

did he use? Ch=amt s anvh
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9. Find the surface area of the figure below. Round your answers to two decimal places.
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11. Please find the surface area of Fido’s doghouse.
: SA BOtOM = 4 (3435 )+ a(344) + (35 %)
=a(05)+ alia) ¢

3.5 > 5
' Tora) = 59+419.4

hB s 2 ' A Top= a(and) + a(L(ss)68) ': 18462
W 4315 | —

V15 = a(g)+ 2169435 )
Wz .9682 = 9.4
12. The Catfish Factory sells tuna, but is run by cats. They decided to design their label first (those silly
cats), and has an area of approximately 50.3 in>. The label will wrap exactly around the can. If the
diameter of the can is 8 inches, what is the height of the can?
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13. A regular hexagonal pyramid has a height of 5 feet, radius of 2 feet, and the perimeter of the base is
P« 12 feet. What is the surface area of the pyramid to the nearest square foot?
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14. Please find surface area of the right cone. Round your answers to two decimal places.
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15. For the regular square pyramid below, the surface area is 384 square centimeters, and each side of
the base is 12 centimeters. What is the slant height of the pyramid?
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Answer Key:
1.) a) 68.5 units® b) 688 units’ 10) 456 ft?
2.)B 11) 78.4 ft*
3)A 12) 2 in
4) Tunnel 13) 42 ft
5.) 9 gallons 14) 35.04 ft*
6.) 1130.88 ft’ 15) 10 cm
7.) 228 cm?
8.) 204.99 in’

9.) 588.44 ft?



